Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — V + EXAMINATION — SUMMER 2016

Subject Code: 350602 Date: 11/05/2016
Subject Name: Quantity Survey & Valuation
Time: 02:30 PM TO 05:30 PM Total Marks: 70
Instructions:

1. Attempt any five questions.

2, Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4, Each question carry equal marks (14 marks)

Q.1 Owner of a plot wants to construct compound wall along the border leaving
5m space for gate on one side. In to in distance between compound wall is 07

30m on both sides. (Refer fig.1)
(a) Calculate quantity of Brickwork

{b) Calculate quantity of inside and outside Plaster work 07
Q.2 With reference to given column and Footing (Fig. No. 2)
(a) Calculate weight of 16mm ¢ reinforcement in kg. 07
{b) Calculate the quantity of (i) Cement concrete 1:2:4 07
(ii) Form work for column and footing
OR
{(b) Prepare (i) Schedule of bar bending (ii) Format of Abstract sheet. 07
Q3 (a) State qualities of good estimator and list out data required by him for 07
preparing Detailed estimate.
{b) State purposes of detailed specification. Write detailed specification for 07
first class brick masonry for super structure
OR
Q.3 (a) Draft a detailed specification for R.C.C. (1:2:4) slab. 07
(b) Enlist methods of estimating. Describe any two types of Approximate 07
estimate in detail.
Q4 (a) Define Rate analysis, SOR. Derive R.A. for R.C.C, slab (1:2:4) with 1% steel 07
{b) State rules of deduction in (i) Masonry work (ii) Plaster work (iii} Concrete 07
work
OR
Q.4 (a) State the factors affecting Rate analysis. Prepared rate analysis for brick 07
masonry (1:6).
{b) List out seven Materials and seven construction items with unit of 07
measurement for them.
Q.5 (a) Work out the monthly standard rent for newly constructed building 07

with following data :
(i) Land cost = Rs. 6.00 lacs
(ii} Construction cost = Rs. 4.00 lacs
(iii) Net return @ 12 % on construction
(iv) Net return @ 4% on land cost
(v} All outgoings including S.F = 20 % of gross rent.
{b)  List out various methods of finding out depreciation, Explain any one in 07
detail and write formula to find out depreciated cost after ‘m’ years. If life of
building is ‘n’ years.
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Explain Sinking fund and Work out the sinking fund amount for a machine 07
costing 50,000, life of machine as 7years & rate of interest 7%.
Work out the present value of cinema from following data

(i) Cost of land :10,00,000
(ii) Future life of cinema. : 20 years

(iii) Cinema runs at 65% of its full capacity
(iv) Daily 4 shows.
(v) Total income from full show : Rs 35,000
(vi) Total out goings: 70% of gross income

(vii) Rate of interest on capital : 10%
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(i) ¥Hlotell §lHcd=Rs. 6.00 ALUL.
(i) ustHo(l SlHcd= Rs.4.00 AW,

Gii) Al uLets ollusidell 12 %,
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(iv) Al aas sH{lotoll SlHd 4 %
(v) AL (o0l wulzdl SF u8ld =20 % of JAA(HE) oug.
gAL3l 2letelto(l IAcdloll 2l woticll slsuel s ([Aotdalrk Al AUl 09
‘n’ arlol 1Y Ul Ustatell ‘m o ugl uuRl oie sal sl
Sl e Higedl st el
uLal
5L §s Qo [Qotcdar unetal. oA weudet [@otd o §s awell. 09
0) 19loto{l $lud 50000 3.
(i)  Helletoll Gz 7 e
(i)  cues oll €R 7%.
(1A aweude [Qotd Rart sletsll slets(l Slud awll. 09
() ¥-{lotell §liict :10,00,000 3.
(i) Rl leto{l AL G, : 20 years
i) Aol 8lete(l wetausll asedl set ettt 65%
(iv) Aol 4 2ll.
(v) s 2l ol 5ct 2ias: 35,000 3.
i) ) el ol Wzl : set 2icise170%
(vii) cUl%oll E2 : 10%
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